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O O O rxn,ryn,rznfix ffy ffzl jial O O O stress(6,iall)
2. fspinf OOODOOO0OOOO Marty potentia O FL(N),F22(N) DO OO
subroutine fspIn(f1_bnd,f2_bnd,fn_tot,fn_tot2,nk1,nk2)
O000nkl,nk2fn tot OO Of1 bnd,f2 bnd
kbnd=100 00000000000 f1 bnd=f2 bnd=1.0d0 0 00O O
3. fgpghf 0OOOODOOOOO Martypotentid O HN)OOODO
subroutine fspgh(gh,fn_tot,nk1,nk2,nk3)
0 O O nk1,nk2,nk3,fn_tot O O O gh
4, bpaam3f 300000000000
subroutine bparam3(bpar,par_ss,par_shl,par_sh2,par_hh,nk1,nk2,nk3)
5, 200000000000
dal(nbk),db2(nbk),damd1(nbk),damd2(nbk),dcutr (nbk),dcutd(nbk),dbcut(nbk),dr eq(nbk),denu(nbk),denu2(nbk)
6. fssfuncf S-SOO0O0OOOODOOOOOO
gooooooogd 1.s-Si, 2S-H, 3:H-H
ooooOooooooon

tersoff.f Tersoff O O OO O(SiO)OO

subroutine calc_force

(ifstr,iall istr,iend,,nkind,nc,nbr,npbx,npby,npbz,nbrall,nbrp,nbrmax,x,y,z,fx,fy,fzhmat,stress,vij)
00O tersoff shfO 00O

00O tersoff shfO 00O

SO0O0O0oooo

gooaoogoag

pressf 0OOOOOOOO0O
subroutine press(iall,istr,iend,nkind,vx,vy,vz stress,hmat,wg)

11



O O O idl,igtr,iend,nkind,vx,vy,vz,hmat,wg
OO0 0Osress(6,idl) parainc OO ifstr=0 000010000
ooooooooooon
000 O O hmat(1,1)* hmat(2,2)* hmat(3,3)/float(ial )0 0 O O

energyf 0000000000 OODOOOODOOODO
subroutine energy(iall istr,iend,iatm,iatms,vx,vy,vzwg,vij,ekin,tnw,uk)
ooo

ial, iend, vx, vy, vz, wg, vij, ekin,

iatm(iregion) ...... oooooooo

iams...... ooooog

iend ...... O0o00o00ooooooooon

ooo

tnw(iregion) ...... goobooooon

uk(iregion) ...... O0o0000ooooooooooon

averagef OO0 O00ODODODDOOCOCCODO

subroutine average(iall,iallOQ, is b,ie b,istr.iendiatm,iatmsx,y,zavr_sc,avr_at,tnw,uk,vij,ekin,stress,navestep,nstep)

gogd

idl, ial0, iend, iatm, iatms, X, y, z, tnw, uk, vij, ekin, ,stress, navestep, nstep

ooo
iave=10(para.inc)

avr_sc(iave) DOOO0O0 jamsOO000OO0O00O0O0OOOiamsx 20+10iendd 00 600
avr_at(iaveidI0) OO OO gboobobooonoobobgbxy,zdbh 0500

MNiend0O0O0O000O0ODODO
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gooaoogaod

temp adjf OO0 O0OOOOO0O

subroutine temp_adj(iall jatm,iatms,itemp,vx,vy,vz,vxi,vyi vz ,hmat,tf,tnw)
ooo

ial, iatm, iatms, vxi, vyi, vzi, hmat, thw

tf(iregion) ...... oooooooon

itemp(iregion) ...... oo0odddoooooooo =10o000oad
odno

VX, VY, VZ, VXi, Wi, VZi ...... temp0 0000000 DOOOOOOOOO

balancef 0O O0OOOOO0OOOO0 DOOOOOODOODOO
subroutine balance(iall istr iend,vx,vy,vz,vxi,wyi, vz ,hmat)

ooad

ial, istr, iend, vxi, vyi, vzi, hmat isr,iend DO OOO0OOOO0O
ooad

VXi, Wi, VZi, VX, vy VZ

ooogg isblisefiD00dOooooooonO 10id ODODO
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gooaoogaod

set atom bondf OOOO0OOOOODOO(SKHOOO)
subroutine set_atom_bond
include 'para.inc'
include 'set_kind.inc'
cceeee atom mass --> atom number
kind_ am=0
kind_atm(14) = 1;inkind(1)=14 !S
kind aam(1) =2;inkind(2=1 'H

c
simass = 28.09d0
wg_s =1.0d0 I 28.09
wg_h =1.008d0/simass! 1.008

c

wg_kind(1) =wg s
wg_kind(2) =wg_h

cceece i-j pair --> bond number
npairbond=0
npairbond(1,1) =1 ! Si-Si bond
npairbond(1,2) =2 ! Si-H bond
npairbond(2,1) =2 !
npairbond(2,2) =3 !'H-H  bond
return
end

set_cut.f book-keepingO OO OOOOOOODO

subroutine set_cut(multmeth,iall,nkind,tf_sub,dt,nbstep,bc_si,dmargl,dmarg2,bcut_r)
oon

multmeth, tfsub, dt, nbstep

oon

bc s ...... goodooooooooooooooa

beut r...... gobooobb 0boOoobboo0oboOOoO0bbOOoOobbOOoO0bDn docut(y) O

dmargl ...... 0000 book-keeping 0000000 OO0ODODOOOODO
dmarg2 ...... 0000 book-keeping OO DO ODOOOOODOOOODOO

matcal.f 000000 1-1-16
subroutine matcal
(hmat,smat,hmati,hmatt,hmatti,gmat,gmati,sigma,apstO,vol ,vgmat,vhmat)
ggd
hmat(3,3), smat(3,3) vhmat(3,3) 0000000 hDOOOO0O0OO00 s000000oooo
ogd
vol ...... V, hmati(3.3)...... h'  hmatt(33) ...... h, hmatti(33) ...... h*, gmat(3,3) ...... G=h'h,
gmati(3,3) ...... Gt sigmai3a) ...... A=Vh', apst0(3,3) ...... Vh-10 h-t, vgmat(3,3) ...... dG/dt

constant.f OO0O0OOOOOOOODOODOADN(Si Terosoff, Si-H Izumi potential)
subroutine constant

0 O O poten.inc
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set_kind.inc (book-keeping 00 0 )
common /dpa2/ dbcut(nbk)
common /bc/ beutss,beutsh,becuthh
& ,beutce,beutec2,beutes,beutch

set npt.f Parinello-Rahman 00O 00000
subroutine set_npt(iall,ddx1,ddyl,ddz1,stml,stm2,smat,arg)
wmz 00do0 OO O000

ooo

idl, arg

ooo

ddx1, ddy1, ddz1, stml, stm2....... ooooogogo

‘smat.dat’ D O OO 0O00smatB3)0 000000000000 smat=0.0d
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